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280,(g) +0,(g) =—=250,(g) AH= -197 kJ/mol

AH o 2 molSO, ( g)
1 AH 1 mol O,( g) ( ) o
( ) o A. 197 kJ B. 197 kJ
A.Cu(s) +CL(g) CuCl,(s) AH, C. 197 kJ D.
Mg(s) +Cl,(g)==MgCl,(s) AH,; AH, >AH, 2 mol
B. Fe(s) +2H"( aq) Fe’* (aq) +H,( g) SO,(g) 1 mol O, (g) 2 mol
AH, Mg(s) +2H" (aq) ==Mg’" (aq) +H,(g)  SO0i(g) 197 kJ;
AH,;  AH, > AH, 2 mol SO,(g) 1 mol
C.H,(g) +F,(g) ==2HF(g) AH, H,(g) 0,(¢g) 2 mol SO, ( g)
+L(g)==2HI(g) AH,; AH, >AH, 197 kJ. Co
D. Mg('s) +Br,(g) ==MgBr,(s) AH, ) AH
Mg(s) +Cl,(g)=—=MgCl,(s) AH,; AH, >AH, 1 AH
» CuO “ 7
B X C A.D.
; D D 480 mL
. A. 500 mL (
5 1 mol * L.""Na, CO, ;
480 mL ( ) o )
A. 14.88 g Na,CO, 480 mL Na,CO, m( Na,CO;) =1 mol * L™
B. 53.0 g Na,CO, 500 mL x0.500 L x106 g * mol ' =53.0 g
C. 53.0 g Na,CO, 500 ml Na,CO, * 10H,0 m( Na,CO, * 10H,0) =1 mol
*L7'x0.500 L x28 g *mol ' =143.0 g
D. 137. 28 g Na, CO, * 10H, O 500 ml, . B,
480 mL ( 12018 - 06 —25)



. 28 .
"AH =
3 ( )
1 mol ( )
o 1.
1
N—H N—N 0=0 N=N H—O0
/kJ /mol x 193 498 942 463
:N,H,(g) +0,(g)==N,(g) +2H,0(¢g)
AH = -539 kJ/mol, H,N—NH, .
N—H x ( ) o
A.194 B.391 C.516 D.782
1 mol N, H, 1 mol N—N
4 mol N—H 1 mol O, I molO=0 1 mol
N, 1 mol N=N 2 mol H,0 4 mol
H—0 ; “AH = -

” AH = (193 kJ/mol +4 x x kJ/mol
+498 kJ/mol) - (942 kJ/mol +4 x463 kJ/mol) =

—-539 kJ/mol x =391, B.

2. AH

CAH =
; AH
“7 AH “17
4 1

( a-b )

N,(g) +3H,(g) ==2NH,(g)

AH ( ) o

e A

He 1mol N(g)+3molH(g)

= A

AE=a k]

n AE=b k]

0.5mol Ny(g)+1.5molH,(g)

1.5moINH;(g)

A.2(a-b) kJ/mol B.(a-5) kJ/mol
C.2(b-a) kJ/mol D.(b-a) kJ/mol
0.5 mol N,( g)

1.5 mol
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H,(g) 1 mol N(g)
a kJ 1 mol NH,( g)
3 mol H( g) b kI,
1.5 mol H,( g 1 mol NH,( g)
(b-a) kJ (b -a)
0.5mol N, (g) + 1.5 mol H, (g) =—
1 mol NH,( g) AH (a-5) kJ/mol
(a-b) ;
N,(g) +3H,(g) ==2NH,(g)
AH 2(a-b) klJ/mol. A,

3 mol H( g)
1 mol N( g)
0.5 mol N,( g)

AH

5 114.5 ¢
€O, (g)

(CHy)
H,0(1)
719.5 kJ
C,H,(g) +13/20,( ) ==4C0,(g) +5H,0(1)
AH ( ) o
A. +2878 kJ/mol
C. +1439 kJ/mol

B. —-2878 kJ/mol
D. -1439 kJ/mol

14.5 ¢(  0.25 mol)
CO, ( g) H,0(1)

719.5 kJ 1 mol
CO,( g) H,0(1) 719.5 kJ x
(1 mol +0.25 mol) =2878 kJ; AH
“ _ ”» AH —
—2878 kJ/mol. B.
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